EARAROBEEIERT — 2 N— IBISH —F

20195 7H 180 (K) 7EIS%#ASH

12R FEL Y o (xwlm | memml - |y ) e pa
[AE4£] 1% :510,000 ™ ~ 27#&:118,000 W ~ 3#&:51,000 ~ 43#&:36,000” . 53&:26,000 ™
B ®RBE mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= EgEth : 01— — REEE— (A
1 6| ¥F7HT1bhRXE— T 1'(45))'6 R ‘ ig? 2HE— .
R:Y=Z24—-3=224— B:o—ILy by Y i ZE AN
j # o4 | WTHZ 1:40.7 3-3-2-2 [38.9| — 5 476 | NIIBBAE (5242)
2071717 T4 F 56.0 (3/4) (+a) |EEHEE
Lox4a Bz —NLEvT N E=IE
R KA : —6-5- — AMEtH (BHE)
3l5l5| ¥ RNT LT R I e oo |30 ’ 3030) REAnT
L:va keI B:v3bYa71 12— HO %8k
R 1ERERA : —4-4- — REEE— (55HR)
al1lq [ Fownas i i 5 s 1.(432).1 4-4-4-3 | 40.0 1 (4:33 i A
LN=v754 B:ed&1 ML hid  HEER
¢ . pAZNES 143 —7-8- . - MEEER (1)
N . E=PEA=E T A A TS | ema
LZAFAT—=ILK B7—-3—-)—Ya ESitie]
o N & CEED 143, =7~ . = HOEEZ (%)
6lglg| APANY—=F27 T8 1(74?:? g7 | 410 2 (4319) = EBF B
R:N=YI754 B:KRU—LI>TLL Lia=Ese]
S N . . P AR 144, -5-6- . - HEZE (513)
" BESE DY T 50 Ry W B S I =4e
R:TUHA XTI K BN TAET 22 lEse]
= 4 5 | s 1:44.2 1-1-3-8 | 42.6| — 6 440 | DIEE=AR (M)
8 4| 7TRAITA b .0 (3/4) (-¢) | =S~ :
R:xIAMO— B:FARTTT— Srdie
® I —F—@EBIERL
13=zr= 4,6,7,(1,2),5,3,8
Aol=5r= 4,6,7,1,2,5,(3,8)
BEE 6,7,4,1,5,2,8,3
43—+ — 6,7,1,5,3,8,2,4
[ RN
B OB 6 1,140 714K 6-7 1,110H B E 6-7 6,620 &R 5-6-7 9,010
8 B 6 2404 5-6 660 B H 6-7 12,740M JEH 6-7-5 55,320
7 380H 5-7 1,140H
5 180F4

ABICOVWTRDTEEERROODE. TR LIV,




